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9 00—
= . . . . . .
[ N0l0le| SRR ETETE EEEPE REPEE ERREE SPETE PEPE
>

D008+~ rr i e ek
©

‘@007 -keee- S [ A
=

D006~ -t e e dr et e e
0.005f- -+ +- e deneiboe il
0.004f- - =i wereiere e e b e et
0.008[-+= - +ermfermsdiensnatosandennashonns

-

5 10 15 20 25 30 35 40

—=— DQM_V0001_R000000001__Global__CMSSW_ckiPU50__RECO

—— DQM_V0001_R000000001__Global__CMSSW_mkFitPUSOLowPtQuad__RECO
—— DQM_V0001_R000000001__Global_CMSSW_LowptQnoSC_RECO

[ Efficienc] —— DQM_v0001_R000000001__Global__CMSSW_LowptQnoDC_RECO

¢ 0.0%
[
2.009
%.008
Iy
9.007
©
9.006
[}
0.005,
0.004
0.003
0.002
0.001

q

0.8

Ratio

0.6) - . : -
0 5 10 15 20 25
TP layers

» 0.0
¢ 0.0%

TP pixel layers

Efficiency vs 3D layer

» 0.0}
9]
#®.009
R.008
4
.007
(5]
©.006]
L
$.005
0.004]
0.003
0.002]

2 4 6 8 10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


